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(C) {'_I‘mudhnf rhma
'|{D] Muaulana Azad

t Rabindranath Tagore rtnw-t!ﬁﬂl?"% ._

: h’llEhtl'luﬂd in protest of the _.it
- {A} Cabmet Mission
(B) Sallianwala Bagh massacre

.......

©) Rowlatt Act  dete ¢ ’
(D) Simon Commission D) &
Q8 MMGMHS in the state ol 08 e e &1 S50 ®.IE .. _%m
| i B .
{A} Wm (A) & oy Is
(B) Chhantisgarh (BY BwiTTS -
{C} Mﬂb!rﬁhtm (C) WERE
(D) Odisha
09  Which of the f'uT[uwing is :h'ig Iw 09 =R :-;-;“E..: B S B
freshwater lake in India?
(A) Dal Lake
®) Lok
(D) Widar
10 Thahw- mﬂhﬂﬂ . AL Tl

Qll  The Elﬂhl o h o
m‘l}’ﬂlc Parli
(A) 2006
(B) 2007

(C) 2008
(D) 2009
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Maharaja Sawai Jai Singh (Jai Singh If

an astronomical observatoryar |
(A) Uljain

(B} Shimla

(C) Bharatpur

(D) Jodhpur

% part of b I-

1ot mmme.

and rubella

I ' TIVLIITILYS



career power
Rectangle

career power
Rectangle

career power
Rectangle

career power
Rectangle

career power
Rectangle


Q19

Q20

Q21

Q22

A-FN

- -r,- {;hlﬂﬂlﬂ of the Union Power
Cm*uﬁhe Constituent Assembly of
h:dﬁ?

:{I’i} Dr. Rajendra Prasad

(B} B Krlpaf,ﬂm
(C) Sardar Vallabhbhai Patel
(D) Jawaharlal Nehru

'he ancient mathematics book Ganita-Sara-

~angraha was authored by
() Bhaskaracharya

(3 Mahaviracharya

(L) Aryvabhatt

(12} Brahmagupta

Who has written an English book

“Unleashing India" which outlines how India

can become o superpower in 25 to 30 years?
(A) Veerappa Moily

(B) SMKrishna

(C) Shashi Tharoor

(D) Manohar Parrikar

In December 2016, Indian Railways started
the first Humsafar ¢lass of trains between
Anand Vihar and

(A) Allzhabad

(B) Gorakhpur

(C) Varanasi

(D) Ballia

The famous Sufi Saint Sheikh -Etllim‘ﬁiiél?ﬂ -

Dargah is situated at in Uttar
Pradesh.

(A} Jaunpur

(B) Kannauj

(C) Fatehpur Sikri

(D) Barabanki

Q19

Q20

Q21

Q22
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Q24

Q25

Q26

Q27

Q28

Which is the third highest peak in the
Himalayas? ;

(A) Mount Lhotse !

(B) Mount Makalu

(C) Mount Fuji

(D) Mount Kanchenjunga

What is the state flower of Uttar Pradesh?
(A) Rose

(B) Marigold

(C) Jasmine

(D) Palash

Where is bile produced in humans?
(A) Stomach

(B) Pancreas

(C) Liver

(D) Gallbladder

When was the National Human Righis
Commission set up in Indja?

(A) 2000

(B) 1995

(C) 1993

(D) 1950

Which of the following diseases is caused
by fungi?

(A) Tonsillitis

(B) Gallstones

(C) Heart attack

(D) Ringworm

Which Indian state accounts more than one-
third of sugar production and output as of
2016-177

(A) Gujarat

.(B) Uttar Pradesh

(C) Maharashtra

(D) Kamataka

Q23

Q25

Q27

Q28

U Wedl & od Eel i H 67
(A) TemE

(B) rar

(C) =hah

(D) 9T

At 0 Wwr o aemes frg s A g
e

(A) Te

8) =

(C) R

(D) e

WIa AEAER A v 4 w5 (@)
werrfue g3 w>r?

(A) 2000

(B) 1995

(C) 1993

(D) 1950

Fefefad i 4 ) @ W G v
(BTH) & BRY By 27

(A) givsHr-<i (Efda)

(B) M &) gerd

(C) f&a & <

(D) =T

Fw A I F 2016-17 F e 4
ST i F 0w ReE ¥ ol 99
I farmr &2

(A) TR

(B) 95 U

(C) WeTS;

(D) wHles
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Q31

Q32

Q33

Q35

mw Munshi Premchand born?
(B) Arampur
(D) Varanasi

Which of the following is the oldest
university in Uttar Pradesh? h -
(A) Aligarh Muslim University

(B) Banaras Hindu University

(C) Mahatma Gandhi Kashi Vidyapeeth
(D) Allahabad Central University

Which Uttar Pradesh city is known as the

‘Grassc of the East'?
(A) Gorakhpur

(B) Moradabad

(C) Banaras

(D) Kannauj

Which neighbouring country is known as the

‘Land of the Thunder Dragon’?

A-FN

(A) Burma
(B) Nepal
(C) Bangladesh

Q30

Q34

Qs

Rrotfitg @7 a5 TS
(Ay FnifEas vfas
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37  Who was the first woman Leaiee frer
J0pposition in the Pakistan Senated

.-_-hi_lﬂ_“.iﬂ Bhutto Aardari
(B) Benazir Bhutto
(C) Sherry Rahman
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Q47

Q48

Q49

Q50

Qsl

'm 'ﬂ ﬁﬂﬁ-l- ¥
[H] i.rh - | . ..

(B) gew

(C) 3rm
(D) o™

g

(A) F1g—sl7

(B) 3f-ary
(C) Ear—urf
(D) smr-grh

(A) T : ' &
(B)

(C) oo

A-FN

(D) g

—3r T
w1 Hel oo <9 g 9

(A) 8l + 9nd
(B) WeT 4 Joad
[F“] Afe + 9cd
(D) A 4+ Sd

234

Q56 -

Q57

Q58
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(R) S
(") GIeH

- SN D) FAIETH
» ()

QU IR & SN Wi ) e o Y ATE R 2
S e L (A) SR AR
{{g‘] R (B) & wﬁ‘ﬂ'
AR (C) Aeg eReEs
(€)W (D) o1 e
(D) #f a |

Q?_z -* .EH_ |
(A) SIasisy gHE
(B) {A=rT< ua
(C) g Bwd Frmer
(D) =EEd) auf

Numerical & Mental Ability

Q76  What will bz written in place of the question Q76 7‘&"?# S
mark in the given series? ﬁ-l'ﬂ'l Rl
B2I9R | 8T20H? BEHH-EIIH':I'EII'IHEEE iy
(A) 6 m} 5
v (B) 7
4 ©'8

24 (D) 9

Q77T  Whatwill be the 29th letter of the sequence: ]
#b,b,ccc,d ddd - 3 Q77w a,b,b, F-ﬁi“,d, va g

(A) f IEY T B
(B) g ' A f
(C) h (B) g
D) i (©) h

D) i

B-i=C2

A-FN '
12
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pwards MNorth, turns right,
lagain and then gocs (o the
fion is Ramesh facing now?.
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e F I v o Sl
3 At @ g w5 |

1) TEL, T ol i sl

L >t all data poj; 5 1o the fact A & 1 cigm TSl § i
thath “"'ﬁ@‘.‘!ﬁﬁiﬁﬂﬂﬂmnnhan B i 818 &y
girls, ; i
2) “ﬂ&ﬁuua!rg'iﬂsmuyhgfnmuim
Parents have to keep money aside for
their marriages.

(A) Only Argumen 1 js strong.
(B) Only Argument 2 i Strong.
(C) Ne‘ithurmgumem I nor 2 is str, N
(D) Both Arguments | ang 2 are strong,

Q83 Read the fo lowing question ang decide
which of the arguments that follow is/are
strong,

Question;

Should a cricket 'eam have more than one

captain during a match?

Arguments

1) No, one needs to make decisions on the
Spot and there won’t be time to resolve
conflicting ideas between the captains
on the field if such a seenario emerges,

2)  Yes, itis always better (o have more
brains coming t0 an understanding
before taking a decision.

(A) Only Argument 1 s strong,

(B) Only Argument 2 js strang,

(C) Neither Argument | nor 2 is strong,

(D) Both Arguments | and 2 are strong,

Q84 Which of he numbers given below is NOT 4

Square number?
(A) 1225

(B) 2025
(C) 2525
(D) 4225
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Q90

h.l”—.”
BI?

(A) 3

(©) 9
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The interest earned on ¥ 2,500 deposited for
3 years at 4% simple interest per annum will
be e

(A) T 240

(B} <250

(C) % 288 =

(D) 300 (]

What will be the interest earned on T 1,400
for two years if the interest is cmnpﬂunded
annually at 10% per annum?

(A) T288

(B) 294

(C) 302

(D) T 308

Ravi and Rashmi invested T 150 and ¥ 200
respectively in a business but Ravi withdrew
his money aftera fewmnﬂls. If the end-of-
twelve-months® profit was shared between
Ravi and Rashmi in the ratio 1: Laﬁarhnw
many months did Ravi take out hls money?
(A) 4

(B) 6

(C) 8

(D) 10

Q96

Q97

(B) 250 %UQ
(C) 288 &Y

(D) 300 &%

10% aifts wmgfl 29 #1 & v 1,400
WU BT 2 WA B AN B

(A) 288 HUY L \Snde
(B) 294 HUT 1YeD ¥
(C) 302 HUY S ¥

(D) 308 59 Eﬁ 294

tﬁm?ﬁq # AL 150 WUY SR 200
wm#ﬁiﬁmmhwﬁ#
W$m syt e o e

’ .uﬁmnﬂ#ﬁmiﬁmﬁqﬁm

# 5 z%matrﬁﬁmﬁmwﬁ%

g: |’§5 1 U
iB) 6
© 8] | ’l -. 2
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8 5 iee uft das B R e e

Sefmer & 71 20 Aev ufy wes 1%1 S
W T Hehell £ | T8 ufge '-'-.
ot B AT A g0 A
v P [y 45 WFE ¢
HiEfe e 2 a9 as
L*.ﬁ'L (A) I3 m
£  (B) 20 WS

x4 i e

- Wﬂfk for less than am
~ How long will it take the di
the work?

(A) 53 min
{B} 52 min 24
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many times his normal specd did

Bt

travel at the remaining part of the jous ,. .

he managed 1o reach office on time?

i A

-y
- 1 .' \:: . i
TR, iz
i
i
',
Cr
it

I‘u-
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*‘BEHK"

(A) PRTV
(B) ORTU

(D) PRUX

(€) School

! ::l Classroom
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f
A
F!;nlz How many T's are both immediately

|

r

0113

Q114

Q115

preceded and followed by *E’in the following
Series?

ETETTMEEETETETT' TTEET
TTEEETETETETT! ETE
(A) 7

(B) 6

(C) 5

(D) 8

What will be written in place of the question
mark in the given serjes?
8H24X7G150177

AT

(B) R

©) Q

(D) p

QUI2. PR sfarst 4 O3 e T8 o

q¥a el 3 aw A p
ETETTMEEETETETETTEET
TTEEETETETETTEETE

W
adl § g & e g
i1 WAIRIe

BH24X7G 150177

(A) T

(B) R

) Q

(D) P

Mental Aptitude, 1Q & Reasoning Ability

Pointing to a photograph Savita says; “He is
the son of the only son of my grandfather.”
How is the man in the photograph related 10
Savita?

(A) Brother

(B) Father

(C) Son

(D) Uncle

Pointing to & woman, Gita said, “She is the
daughter of the only child of my
grandmother.” How is the woman refated (o
Gita?

{A) Niece

(B) Cousin

(C) Sister

(D) Mother

Q114 s miers 6t 3w Hda w50 9l

@] B, “98 W & B W 92 @ 21
| IS A gEn aiEe 9 B e

- Hifem 22

(A) e

(B) e

(©€) 1A
(D) =Far

Qil5 ©F AfEar #) AR ﬂi’ﬂ‘-ﬁ!ﬂ'gﬁ m.r}lp:fll!

g g8 A ) @ gEEE e a o
& | wfter Ay & R s sl &
(A) Wil

(B) it TE7

(C) 9e

(D) i
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Which fipure is related 1o ﬁﬁﬁlﬁ i the 5
way as figure 2 is related to figure 17
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0138 Consider the

Il]“q!“‘il’lg stalements to be true
they seem to be at variance from
commonly known facts. Decide which of the

ziven conclusions logically follows from the
statermnents.

S'IﬂtﬁTHETIIE Sioe

1} sm'ﬂﬁknmupg e I
2) Nocapis black. |
Conclusions:

)  Some caps are desks.

II) No desk is black.

(A) Only conclusion | follows

(B) Only conclusion Il follows:
(C) Both, conclusions I and I follow
(D) Neither conclusions I nor 11 follow

iy

even if

"
L

~ Find the missing number: 2, fﬂ iﬂ" ﬁﬂ. ?
(A) Iﬂl
(B) 102
(C) 130
(D) 104

Q138 #ﬁﬁgm aie Prepd fov oo & fv

AT TTer Wil €), o g' aan

mmﬁmﬁﬁﬁﬁqﬂﬁﬁﬁﬂa
T 2 L

Tm St ifugl § ) Ee‘/

2) DIz A endl wiell T8l 8|

e
L aweEiid s 81
0., wE W s cr-T:-’f‘rﬂﬁfEi

(A) fe Fremd | wema (Fe B
(B) fors frrend 11 weRd (et @) € |
(€) 1417 nﬁa_mﬂﬂwm
{B)HIE"II&HT .
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QI8 IFTRUTYH ;¢ Coded as ) DSTVSUGH, then
how wifl LIES be coded? 3

(A) KMIHDFTR R

(B) KMHIDFRY i

(©) HiDFRTRM,

(D) KMIHFDTR |

1k

-

-
i 2l
L

. w9 nfe BUTTER &1
:""'”F.':'f': B E'BL”TERI!LﬂudEdM Q[dg ﬁnﬂ E"E

EXWWHU 3 MILK &7 %1 PLON Eten
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